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Please watch the following videos and answer the following 22 of 22
questions points

https://youtu.be/_q37TwqgabFk

https://youtu.be/xhwFkwSol_c

https://youtu.be/RHfsmeQgTwg

https://youtu.be/Kx2Qn9UiGPI

https://youtu.be/m40AqH1a6FI

Study the following table and answer the questions based on it.
Expenditures of a Company (in Lakh Rupees) per Annum Over the given Years.

Item of Expenditure
= Salary Fuel and Transport Bonus Interest on Loans Taxes
1998 288 98 3.00 234 83
1999 342 112 2.52 325 108
2000 324 101 3.84 41186 74
2001 336 133 3.66 36.4 88
2002 420 142 3.96 494 a9g

v/ 1What is the average amount of interest per year which the company
had to pay during this period? *

() Rs. 32.43 lakhs
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https://www.google.com/url?q=https://youtu.be/_q37Twqa6Fk&sa=D&ust=1604154046476000&usg=AFQjCNGwkkhLqoBso-su2EX7wfBLMjLbMg
https://www.google.com/url?q=https://youtu.be/xhwFkwSoI_c&sa=D&ust=1604154046476000&usg=AFQjCNExVzW5g9n7JyocKDf6VMlev8ZZPQ
https://www.google.com/url?q=https://youtu.be/RHfsmeQgTwg&sa=D&ust=1604154046476000&usg=AFQjCNGDcy9qB8K2_Fex1d8-vJ6nznXFQQ
https://www.google.com/url?q=https://youtu.be/Kx2Qn9UiGPI&sa=D&ust=1604154046476000&usg=AFQjCNHlikdksGOPpWbxtSyUt3OKMoSSBw
https://www.google.com/url?q=https://youtu.be/m40AqH1a6FI&sa=D&ust=1604154046476000&usg=AFQjCNGEdaCs_3EhsPM8zRZMW9iJjRjkVA
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() Rs.33.72lakhs
() Rs.34.18 lakhs

(® Rs.36.66 lakhs v

v/ 2. The total amount of bonus paid by the company during the given 1/1
period is approximately what percent of the total amount of salary paid
during this period? *

() 0.1%
() 0.5%
® 1% v
() 1.25%

v/ 3. Total expenditure on all these items in 1998 was approximately what  1/1
percent of the total expenditure in 20027 *

() 62%
() 66%
® 69% v

) 71%

v/ 4.The total expenditure of the company over these items during the year1/1
2000is? *

B @ Rs. 544.44 |lakhs v

Y Re BN1 11 lakhe
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() Rs.446.46 lakhs

() Rs.478.87 lakhs

v/ 5. The ratio between the total expenditure on Taxes for all the yearsand 1/1
the total expenditure on Fuel and Transport for all the years respectively
is approximately? *

v/ 6. What was the percentage decline in the production of fertilizers from 1/1
1997 to 19987 *

() 33(1/3)%

() 20%

® 25% v
() 21%



v/ 7.The average production of 1996 and 1997 was exactly equal to the 1/1
average production of which of the following pairs of years? *

() 2000 and 2001
() 1999 and 2000

() 1998 and 2000

@ 1995 and 2001 v

v/ 8. What was the percentage increase in production of fertilizers in 2002 1/1
compared to that in 19957 *

() 320%
() 300%
® 220% v

() 200%

v/ 9.Inwhich year was the percentage increase in production as compared 1/1
to the previous year the maximum? *

() 2002
] () 2001



() 1997
® 1996 v

v/ 10.In how many of the given years was the production of fertilizers more 1/1
than the average production of the given years? *

(O 1
O 2
() 3
@ 4 v

v 1. In the corporate sector, approximately how many degrees should be  1/1
there in the central angle 7 *

() 120
() 121
® 122 v

() 123



v/ 12.If the investment by NRI's are Rs 4,000 crore, then the investments by 1/1
corporate houses and FlI's together is: *

() 24,000 crore
@ 24,363 crore v

O 25,423 crore

O 25,643 crore

v/ 13.What percentage of the total investment is coming from Fll's and NRI's 1/1
? *

() 33%
() 1%
® 44% N4
() 22%

v/ 14.If the total investment other than by Fll and corporate housesisRs  1/1
335,000 crore, then the investment by NRI's and Offshore funds will be
(approximately) ? *

@ 274,100 v
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() 293,000

O Cannot be determined

v/ 15.If the total investment flows from Fll's were to be doubled in the next 1/1
year and the investment flows from all other sources had remained
constant at their existing levels for this year, then what would be the
proportion of Fll investment in the total investment into India Bonds next
year (in US $ millions) ? *

() 40%
@® 50% v
() 60%
() 70%

v/ 16.In how many of the given years were the exports more than the 1/1
imports for Company A? *



v/ 17.1f the imports of Company A in 1997 were increased by 40 percent,  1/1
what would be the ratio of exports to the increased imports? *

O cannot be determined

v/ 18.If the exports of Company A in 1998 were Rs. 237 crores, what was the 1/1
amount of imports in that year? *

Rs. 189.6 crores
Rs. 243 crores
Rs. 281 crores

Rs. 316 crores v

@ O O O



v/ 19. What are the average marks obtained by all the seven students in 1/1
Physics? (rounded off to two digit after decimal) *

v/ 20.The number of students who obtained 60% and above marksinall  1/1
subjectsis? *

(O 1

@ 2 v
() s

() None

v/ 21. What was the aggregate of marks obtained by Sajal in all the six 1/1

subjects? *

() 409
i () 419



() 429
@ 449 v

v/ 22.What is the overall percentage of Tarun? * 1/1

() 52.5%
() 55%
® 60% v
() 63%
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